

Page 1 of 1

#### Florida Department of Transportation



Letting:

06240222

**Vendor Ranking** 

February 22, 2024 11:00 AM **Call Order:** 002 **Contract:** E6P19-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44424627201 (\*)

Contract Desc: TREE TRIMMING AND REMOVAL MIAMI-DADE COUNTY

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$85,465.00	100.00%
2	CONSTRU-ART MIAMI LLC	Responsive	Non-Winning Bid	\$94,027.50	110.02%
3	GOMEZ & SON FENCE CORP.	Responsive	Non-Winning Bid	\$127,320.00	148.97%
4	GROW CARE OUTDOOR SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$187,782.46	219.72%
5	INNOVATIVE ENVIRONMENTAL SERVICES, INC.	Responsive	Non-Winning Bid	\$194,465.00	227.54%
6	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$292,600.00	342.36%
7	BELLA FIORE LANDSCAPING LLC	Responsive	Non-Winning Bid	\$433,225.00	506.90%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



02/26/2024

#### **Tabulation of Bids**

**Letting:** 06240222 February 22, 2024 **Call Order:** 002 **Contract:** E6P19-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44424627201 (\*)

Contract Descr: TREE TRIMMING AND REMOVAL MIAMI-DADE COUNTY

This is a Business Development Initiative (BDI) contract to trim or prune trees and vegetation, remove undesired trees and vegetation, and dispose of resulting debris on various Arterial State Roads as directed in work documents.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/egualopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder: however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Page 1 of 8

<sup>\*\*\*\*</sup>Award will be made at the Department Advertisement Estimate Amount of \$225,000.00.





## **Tabulation of Bids**

Page 2 of 8

Letting	<b>g</b> : 06	240222	February 22, 20	024 <b>Ca</b> l	II Order: 002		Contract:	E6P19-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) T & M LA SERVIO		(2) CONSTRU-A	ART MIAMI LLC		SON FENCE
	dicates item is bio	d as Lump Sum	55	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMII	NG AND REMOVA	AL (MH				
0005 TREE R	E580332 20 REMOVAL (LES	S THAN 4")	5.000 EA	1.00000	5.00	1.50000	7.50	10.00000	50.00
0010 TREE R	E580332 21 REMOVAL (4" T	O 12")	15.000 EA	1.00000	15.00	124.50000	1,867.50	0.50000	7.50
0015 TREE R	E580332 22 REMOVAL (13"	TO 24")	15.000 EA	1.00000	15.00	124.50000	1,867.50	0.50000	7.50
0020 TREE R	E580332 23 REMOVAL (25"	TO 36")	15.000 EA	1.00000	15.00	550.00000	8,250.00	2.00000	30.00
0025 TREE R	E580332 24 REMOVAL (37"	TO 48")	5.000 EA	1.00000	5.00	575.00000	2,875.00	2.00000	10.00
0030 TREE T	E580332 97 RIMMING		800.000 EA	1.00000	800.00	19.50000	15,600.00	0.50000	400.00
0035 STUMP	E580333 1 REMOVAL (4"	TO 24")	5.000 EA	1.00000	5.00	25.00000	125.00	35.00000	175.00
0040 STUMP	E580333 2 REMOVAL (25	5" TO 48")	5.000 EA	1.00000	5.00	28.00000	140.00	35.00000	175.00
0045 PRUNIN 4")	E580336 NG AND TRIMN	IING (LESS TI	300.000 HAN EA	1.00000	300.00	1.50000	450.00	0.25000	75.00





## **Tabulation of Bids**

Page 3 of 8

Letting:	06240222	February 22,	2024 Ca	II Order: 002		Contract:	E6P19-R0	
	o / Item ID Alt	ternate Quantity Units		AWN-FENCE CE INC	(2) CONSTRU-A	ART MIAMI LLC		SON FENCE ORP.
() indica	ates item is bid as Lump	o Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TREE TRIM	MING AND REMOVA	AL (MH				
	E580336 1 AND TRIMMING (4"	1,500.000 ' TO 24") EA		30,000.00	14.50000	21,750.00	0.50000	750.00
	E580336 2 AND TRIMMING (>	800.000 24") EA		800.00	5.80000	4,640.00	0.60000	480.00
	E580336 4 AND TRIMMING (TI	1.000 REES AND PM	,	1,000.00	455.00000	455.00	35.00000	35.00
	E580336 5 AND TRIMMING (TI	500,000.000 REES AND SF		30,000.00	0.01500	7,500.00	0.24980	124,900.00
	E580336 14 AND TRIMMING (PA	1,500.000 ALMS) EA		22,500.00	19.00000	28,500.00	0.15000	225.00
0001	TREE TRIMMING A REMOVAL (I	AND Section Totals: MH)		\$85,465.00		\$94,027.50		\$127,320.00
	Contra	act Grand Totals:		\$85,465.00		\$94,027.50		127,320.00





## **Tabulation of Bids**

Page 4 of 8

Letting	<b>g</b> : 06	240222	February 22, 20	024 <b>Ca</b> l	II Order: 002		Contract:	E6P19-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) GROW CAF SOLUTIO		(5) INNO ENVIRONMENT	AL SERVICES,		IRONMENTAL, IC.
	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	C. Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 TREE R	E580332 20 REMOVAL (LES	S THAN 4")	5.000 EA	24.14000	120.70	25.00000	125.00	25.00000	125.00
0010 TREE R	E580332 21 REMOVAL (4" T	O 12")	15.000 EA	95.75000	1,436.25	200.00000	3,000.00	50.00000	750.00
0015 TREE R	E580332 22 REMOVAL (13"	TO 24")	15.000 EA	195.74000	2,936.10	1.00000	15.00	100.00000	1,500.00
0020 TREE R	E580332 23 REMOVAL (25"	TO 36")	15.000 EA	235.40000	3,531.00	1.00000	15.00	100.00000	1,500.00
0025 TREE R	E580332 24 REMOVAL (37"	TO 48")	5.000 EA	302.16000	1,510.80	1.00000	5.00	150.00000	750.00
0030 TREE T	E580332 97 RIMMING		800.000 EA	32.65000	26,120.00	20.00000	16,000.00	100.00000	80,000.00
0035 STUMP	E580333 1 REMOVAL (4"	TO 24")	5.000 EA	110.18000	550.90	1.00000	5.00	35.00000	175.00
0040 STUMP	E580333 2 REMOVAL (25	" TO 48")	5.000 EA	83.28000	416.40	40.00000	200.00	50.00000	250.00
0045 PRUNIN 4")	E580336 NG AND TRIMM	MING (LESS TH	300.000 HAN EA	24.90000	7,470.00	1.00000	300.00	50.00000	15,000.00





## **Tabulation of Bids**

Page 5 of 8

Letting	): 0624022	2 Feb	ruary 22, 20	024 <b>Cal</b>	I Order: 002		Contract:	E6P19-R0	
		Quantity Units	(4) GROW CARE OUTDOOR SOLUTIONS, LLC		(5) INNO	AL SERVICES,	(6) T.T.C. ENVIRONMENTAL, INC.		
	icates item is bid as Lum	np Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TR	EE TRIMMI	NG AND REMOVA	AL (MH				
	E580336 1 G AND TRIMMING (4		1,500.000 EA	32.65000	48,975.00	50.00000	75,000.00	50.00000	75,000.00
	E580336 2 G AND TRIMMING (>	· 24")	800.000 EA	36.85000	29,480.00	1.00000	800.00	50.00000	40,000.00
	E580336 4 G AND TRIMMING (T S)	REES AND	1.000 PM	1,110.31000	1,110.31	4,000.00000	4,000.00	50.00000	50.00
	E580336 5 G AND TRIMMING (T S)		0,000.000 SF	0.06000	30,000.00	0.10000	50,000.00	0.05000	25,000.00
	E580336 14 G AND TRIMMING (F		1,500.000 EA	22.75000	34,125.00	30.00000	45,000.00	35.00000	52,500.00
000	01 TREE TRIMMING A REMOVAL (		on Totals:		\$187,782.46		\$194,465.00 <sup>°</sup>		\$292,600.00
	Contr	act Grand	l Totals:		\$187,782.46		\$194,465.00		292,600.00





## **Tabulation of Bids**

Page 6 of 8

Letting:	06240222	February 22, 2	024 <b>Ca</b> l	II Order: 002		Contract:	E6P19-R0	
	o / Item ID Altern	ate Quantity Units	(7) BELLA FIORE LANDSCAPING LLC					
() indica	ates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
	580332 20 MOVAL (LESS THAN 4"	5.000 ) EA	100.00000	500.00				
	5580332 21 MOVAL (4" TO 12")	15.000 EA	645.00000	9,675.00				
	5580332 22 MOVAL (13" TO 24")	15.000 EA	1,400.00000	21,000.00				
	5580332 23 MOVAL (25" TO 36")	15.000 EA	2,200.00000	33,000.00				
	5580332 24 MOVAL (37" TO 48")	5.000 EA	3,200.00000	16,000.00				
0030 E TREE TRII	580332 97 MMING	800.000 EA	70.00000	56,000.00				
	E580333 1 EMOVAL (4" TO 24")	5.000 EA	150.00000	750.00				
	E580333 2 EMOVAL (25" TO 48")	5.000 EA	420.00000	2,100.00				
	580336 AND TRIMMING (LESS	300.000 S THAN EA	70.00000	21,000.00				



#### 02/26/2024

## **Tabulation of Bids**

Page 7 of 8

Letting:	06240222	February 22, 2	024 <b>Ca</b>	II Order: 002		Contract:	E6P19-R0	
Line No / Ite		ite Quantity Units	(7) BELL LANDSCA					
() indicates ite	em is bid as Lump Sum	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TON: 0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0050 E58033 PRUNING AND	36 1 TRIMMING (4" TO 2	1,500.000 24") EA	70.00000	105,000.00				
0055 E58033 PRUNING AND	36 2 TRIMMING (> 24")	800.000 EA	90.00000	72,000.00				
0060 E58033 PRUNING AND SHRUBS)	36 4 TRIMMING (TREES	1.000 S AND PM	1,200.00000	1,200.00				
0065 E58033 PRUNING AND SHRUBS)	36 5 TRIMMING (TREES	500,000.000 S AND SF	0.10000	50,000.00				
0070 E58033 PRUNING AND	36 14 TRIMMING (PALMS	1,500.000 S) EA	30.00000	45,000.00				
0001 TREE	E TRIMMING AND REMOVAL (MH)	Section Totals:		\$433,225.00				

**Contract Grand Totals:** 

\$433,225.00



02/26/2024

#### **Tabulation of Bids**

Page 8 of 8

**Letting:** 06240222 February 22, 2024 **Call Order:** 002 **Contract:** E6P19-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.